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Answer ang fiu Etestion's.

l. (a) Derive the expression of Multiple Access
Interference and Signal to Interference
ratio in a typical single carrier CDMA
system. 15

(b) Derive the expression of a TDMA frame
structure. 5

(a) What are the benefits of OFDM, explain
briefly ? 5

M Explain OFDM with its matrix
representation. 15

2.

Contd.



a (a) What are the different packet radio
protocols ? Find the probability of
success and throughput for slotted
ALOHA and pure ALOHA. 4+8

(b) In a CSMA based system the equation
of throughput is as follows : 8

s= G.e-oG

G(t +2a)+e-"G

The propagation delay a =lpsec . G is
the offered load traffic. For which value
of G, throughput will be maximum ?
Find the maximum value of throughput.

Draw the protocol suite of X.25
network and describe functionalities of
each layer. 10

What do you mean by signalling in
networking ? Explain with functional
block diagram, the working of SS7
signalling system. 3+7

What are the challenges in mobilelP
based networking ? 5

How mobile IP management is done in
various steps, explain briefly ? 9

(a)

(b)

4.

(a)

(b)

5.
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What are Virtual Path and Virtual
Circuit ? Explain howATM packets dre
transferred from one nodc to other in
an ATM network.

Writc ehort notes on : (aw trlrlo, l0x2

A CDPD

(a) ISDN

fii,f Bluetooth

fill Wtueless broadband.

How WAP is interconnected. .with IP
baccd networking systcm ? 6

What are the benefits of ATtrl ? Discuss
ATM cell format and deccribe'dilferent

3+7 
...,
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